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1.Which set of commands should be used for troubleshooting Ethernet connectivity problems from the 

storage system console? 

A. ifstat, netdiag 

B. sysconfig - cr, sysstat 

C. scsi test, shelfchk 

D. dish shm_stats, sysstat 

Answer: A  

 

2.If you change the setting for the option cifs.neg_buf_size, you need to terminate CIFS on the storage 

system and do a restart for the changes to take effect. 

A. True 

B. False 

Answer: A  

 

3.Which command would you use to verify that the iSCSI service is running? 

A. license add iSCSI 

B. iscsi service 

C. iscsi status 

D. iscsi protocol 

Answer: C  

 

4.CIFS clients can resolve symbolic links created by NFS clients on the storage system. 

A. True 

B. False 

Answer: A  

 

5.An iSCSI or FC SAN implementation provides _____ access to LUNs. 

A. file 

B. block 

C. VLD 

D. VIIP 

Answer: B 


